Best model for HELP J143531.806+340547.689 at z = 1.396 x2=2.01
OPTx2=2.25 IRy?=1.85 threshold (OPT IR)=19.17 [um]

2
10 3 Stellar attenuated
i e e Stellar unattenuated
1 1 —— Dust emission
10 E o —— AGN emission
] = Model spectrum
E ® Model fluxes
100 3 [ Observed fluxes
= o1
c 107" 4
S 10-2 Jree
w E
1073 E
104 E
P ]
=} ]
Al |
Tju ] == (Obs-Mod)/Obs
2 \
n L
] o____ ] e el e A ] e — e e i ————————————————
— [\
()
2
-+
o -1 - — - CIGALE
()
(o'

10° 10t 102 103 104 10° A
Observed wavelength [um]



